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IHH| Lab2 (class, method, if, switch, for, while, ...)

1. oetRa FI|EH YEE 7MKL U= PTable S 19
public class PTable {

public static final int HYDROGEN= 1, // F* ...

public static final int CALCIUM = 20; // Z'&

Y/

public static String getSymbol(int element) { // 1-> H
switch(element) {
case HYDROGEN: return "H",

/
}
public static String getName(int element) // 1 -> =4
public static double getWeight(int element) // 1 -> 1.008
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1. AFEAL Y E B Userlnput S2iA +3
public class Userlnput {
static Scanner scan = new Scanner(System.in),

public static double getDouble() { return Double.parseDouble(scan.nextLine()),
public static int getInteger() { return Integer.parselnt(scan.nextLine()),; }
public static int getintegerBetween(int min, int max) {

LS

}
public static boolean getExitKey() {
System.out.print("Press q-key to exit or enter-key to continue: ");
String s = scan.nextLine();
if (s.contentEquals("q")) return true;
else return false;

}
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